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A 2.00 kg frictionless block is atta
peed of 4.00 mV/s. Find

The force constant of the spring is 315
moving in the negative X - direction witha's
a./ the amplitude of the motion.

b./ the block’s maximum acceleration, and

¢/ the maximum force the spring exerts on the block.
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e A light beam coming from an underwater spotlight exits the water at an angle of 36°. At what
angle of incidence did it hit the air-water interface from below the surface?
(the refraction index of water is 1.33)
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Problem #3
— 290 K is allowed to expand

fvolume V1= 350 m* at Tt

of an ideal gas 0
290 K). Determine

Suppose 2.60 mol
=7.00m* (T2=

isothermally to V2
a.) the work done by the gas.
b.) The heat added to the gas, and
c.) The change in the internal energy of t

he gas.
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~——+—— A nature photographer wishes to photograph a 40 m tall tree from a distance of 65 meter. What
focal-length lens should be used if the image is to fill the 24 mm height of the sensor?
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" _-I~ If 14.00 mole of Helium gas is at 10.0°C and at pressure of 0.350 atm, calculate
a./ the volume of the Helium gas under these conditions. and
Et‘:— b./ the temperature if the gas is compressed to precisely half of the volume ata pressure of I atm.
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0 ine the
I£0.45 kg of water at 100°C is changed by a reversible process to steam at 100°C, determine
~ change in the entropy of

—_— a.) the water, 0
s b.) the surroundings,
o ¢.) the universe as a whole s
o d.) How would your answers differ if the process were irreversible? - £

(Note: quantitate answers are expected)
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Question #1
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